L AT ‘ Circle Theorems

iﬂid‘\

REVISE THIS
IS Tt

1 A, B, C and D are points on a circle, centre O.

1 (@  Write down the size of angle CAB. [1 mark]
Answer L“ Z degrees

1 (b) Write down the size of angle ACD. [1 mark]
Answer 8 & degrees

1 (c) Write down the size of angle AEB. [1 mark]
Answer 5 ] degrees

1 (d) Write down the size of angle BEC. [1 mark]

Answer l 2-3 degrees
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2 A, B, and C are points on a circle, centre O.
A
C
B
Work out the size of angle CAB.
Give a reason for your answer. [2 marks]
Answer l l degrees

Reason _W\Q' angle n . semucircle \S O‘Do

Ang\ﬂs N Q briuns\e, add Lo \80°

3 A, B, and C are points on a circle, centre O.

29° C

Work out the size of angle COB.

Give a reason for your answer. [2 marks]

Answer S g degrees

Reason ‘W\Q, (M\é\e. o\.’( J(J\ne, (z,v\f(.( e s bw\'cg,
e ov\S\Q. ok the Q}'f&\l\MQUCV\(Q.
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4 A, B, C and D are points on a circle, centre O.

3

Work out the size of angle ABC.
Give a reason for your answer.

[2 marks]
Answer & L“ degrees
Reason OR ?OSI*QJ QV\&\QS m A O (,\'t C
. 0
%u adrilalera) add O 120
5 A, B, and C are points on a circle, centre O.
AB is a tangent. A
C
B
Work out the size of angle OCB. [2 marks]

Give a reason for your answer.

Answer C‘ 0 degrees
Reason ‘k {OV\SQV\’C MCQ{ZS ¢ B TOA\% dt qoo
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6 A, B, C and D are points on a circle, centre O.
A

Work out the size of angle ABC.
Give reasons for your answer. [4 marks]

Angle DOC= 136°
The cmé\e. ol the cenkie is bwice the
ovxs\e. ok e Jreumerence.
Angle ODC = Ange OCD = &
Euse, ang\eS in gn isoscefes 1“\0»\,5\"' ue C‘L‘”‘L
Angle ¥DC= da ¥ 4S
= b?
M\S\b ARC= |180~- 67
=113
Oiyosi’fb om&\es noQ (,d(,\'to o»ua&ri\altm\.

0

add O 120

Answer \ | I 3 degrees
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7 A, B, C and D are points on a circle, centre O.
EF is a tangent.

Work out the size of angle ABC.
Give reasons for your answer. [4 marks]

Angle DAC - Sy’

Alternate segmenk bheorem,
Angle ADC = 43° n
An&\cs n o h‘mvcjle. adck bo 180

M‘&‘e' ABC= 180-43

= | ?:q"o
03?0536 cm&\es n Q (,d(,\‘to C\’ua&r{\a}tml
add O 120’

Answer l 3?- degrees
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8 A, B, and C are points on a circle, centre O.

Work out the size of angle ACB.
Give reasons for your answer.

ﬁh&\b APY = 65°

The angle aX the cemkie is Luwice the
on \e okt e groumCuence.

An&\b ARC= 180-65

[3 marks]

= |19
waosi’f% cmg\es n Q c,d(,\io c\/uadri\al‘eral
add 180

Answer \ l S degrees
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9 A, B, C and D are points on a circle, centre O.
BA=BD
AB and DC are parallel. B

Work out the size of angle DBC.
Give reasons for your answer. [5 marks]

Angle B&D = Ange EDA =34

Euse, O\V\f,\% In gn isobcdu. J(.t\'uv\&\e UL (AUML
P«ra]c ARD =11°

Pma\ts N o tyiavcj\c adk o \20

":\n{l\t BDC = Angle ABD

Alrermake angles are egquak

M\&\& ARC= 180- 412

= |?>Q'°
Ofwosi’ft cmg\es n O (,:3(,\10 c»\/ua&ri\al'eral
add O 120

P\r@]c DR :=53°
Ana\cs in o tﬁava\e addh o 180

Answer 5 \ degrees
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10 A, B, and C are points on a circle, centre O.
A/_\C
@]
D y €

Work out the size of angle BAC.
Give reasons for your answer. [4 marks]

fAngle CRE = 40-2%%
= 4°
A‘hhgeuk meeks o radius of 40

Ana\c WM = 63
Alternafe sejme,ub theorem,

Answer é 3 degrees

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

oy r@ @1stclassmaths

9

11 C and E are points on a circle, centre O.
AB and AD are tangents.

11 (@) Work out the size of angle COE. [2 marks]

Aha\Q, AED = Av&\Q, MO = qo’

A tunged meeks o radius ak 40
Angle COE= 110" dngles in a quodn laktrel add to

160°
Answer \ l O degrees
11 (b) OC=5cm
Work out the length of CA to 1 decimal place. [2 marks]
Angle (RO =35°  tanGs)=£
CA
C
A 35° - S
Sem CA=_"> _
bon(!;s\
5 CA=2+W03.
Answer -:l'\ cm
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12 A, B, and C are points on a circle, centre O.
EF is a tangent.
Angle FAB =5 x Angle CAF.

[Reusms not reqm'ml in This Q__\

WO_AK ou{?e size of angle AFC. [4 marks]
"
U= 90 The angle in a semicircle s q0°
0:6=1S

P\ng\b CAF= 1S

Angle gCe=9v Angle ACR=\2

A ‘hhgeuk meeks o radivs ok 40°
Angle APC= 148’ hngles in o brangle odd fo 180°
Prgle CPF = 32° Angles ona steaight line odd b 190
Pngle AFC=52° Angles in o briangle odd o 180°

Answer S 8 degrees
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13 A, B, and C are points on a circle, centre O.
DE and FG are tangents.

C ‘ ) ]
\‘DL I

]

G

E

B

F
(’Reums not reqm’ml in this éj

13 (@) Work out the size of angle ACB. [2 marks]

Angle A0D = 02 A'\TA ek meeks o radius ok 40°
and uhe\f-& n a c‘/uadm\a,&’emk addL to 10’
Angle fcl = oI’ Angt ok the ciccumGerence

M\& the ongle ok the centre,
Answer S \ degrees

13 (b) Work out the size of angle ABP. [2 marks]
Angle ARD = Angle B0 =14 0
Ease, 0"\9\@5 inan {soscefes {ﬂan‘s\% e u‘,\ml,
fAngle AR =90 - 34 f+ “angewk meeks
=0l o radivs ok 40’

Answer S ‘ degrees

([ .
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14 A, B, C and D are points on a circle, centre O.
ABCD is a trapezium with AB parallel to DC. D
AB =AC

Work out the size of angle DAC. [5 marks]

(Reusms not reqm'ml in This (5_\

e +2 + 3 -8 =180°
O?Pos\‘{-e. unoles in o c.ac.l.ic abuaclri\ukUaL

add Yo (80°
b -6 = 180 3+ 2= 95
6> = (86 2(an- 8 = %S

x= 3I°

ﬂhgle, RCB= Ange ABL = 25

f-\ng\b cAg=1\0° P\v\,\u in obn‘ana\e odd tp 180’

fngle DCA= fAngle CAD aHernate angles ore o5l
Angle DAC= 36° Angles ina trangle add +0180°

Answer -:,- S degrees

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

° y r@ @1stclassmaths 13

15 B and D are points on a circle, centre O.
AE and AC are tangents.

B
_ P
N\ 1 -
\q{-\"" - 5x—7
v _ -7
Y
A

=\V
7

Work out the value of X

fngle oD = 2(Sa-7)

15 (a)

D
[RQGSUKS not rcqm'fta in this &] [3 marks]
\Oa - It = (80-x-F

E

(i angle ok Circum gecence) ox 4= F1-%
hngle ROD = 180 - ber 7Y >~ 187
(ongles in otua;lri \aterad add to 1(00) x= |+
Answer \:'- degrees
15(b) AD=30cm
Work out the length of OD to 3 significant figures. [3 marks]
BAD= 247 o tan(12)= 0D
o AD= 1° 30
w 0D > 20tan(1d)
30w
Answer 6 ) Sg cm
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